S == S L1 N FR ) | N/ N S BV il
Tk 21 118 1B BE
T4, i | P % in HT4, fhar | B % in

MHE1TH 880 1,041 994 2,035 A ] 211 299 275 574
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A 3TH 695 839 834 1,673 RN EHT 908 943] 1,023] 1,966
st FA KB T 848 932 833| 1,765 AHTE1TH 225 218 299 571
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st FA 7 T 185 902 989| 1,891 BRI 694 847 861 1,708
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it A AL BT 144 932 970 1,902 =GR 681 837 872 1,709
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BEHET 600 115 722) 1,437 E3L VN 1,574  1,955| 2,027 3,982
BIERHET 984 1,229] 1,224 2,453 HaAR AL T 391 476 458 934
BERAT 947| 1,231 1,148 2,379 FaAR EE AT 161 928 929, 1,857
aiETHT 2217 294 297 591 FELZH 1,248) 1,149 1,089 2,238
Hi SEET 584 686 689 1,375 FEHET 1, 451 1,279] 1,483 2,762
AZHENE 448 562 575 1,137 EEAZHE 1,015 1,072 1,236] 2,308
AESIZHT 19 61 11 138 FEABEHE 414 398 467 865
AE T 126 836 910 1,746 EERZHE 1,189 1,032 1,112] 2,144
AEERNMLE 460 584 632 1,216 ABFTHT 267 261 333 594
ARGZNE 489 643 680 1,323 el ] 1,637 1,791 1,872) 3,663
AZITHT 322 445 425 870 AREHT 419 466 498 964
FAME 636 848 867 1,715 RETH 479 571 549 1,120
wAE1TH , 447 1,531 1,743) 3,274 SEHT 561 665 556, 1,221
wAE2TH 16 19 85 164 HEASHT 651 710 654 1,364
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LS 499 617 642 1,259 ERFEMET 103 120 114 234
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A FIFTHT 805 851 948 1,799 REF1TH 228 288 243 531
& TIET 503 626 598 1,224 A¥%2TH 202 255 240 495
K& 116 132 141 213 RE3TH 466 629 625 1,254
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EW3TH 512 543 587) 1,130| |m#mHET 539 689 718| 1,407
=W4TH 225 266 278 544 |REEERT 760 893 940| 1,833
=M5TH ,225|  1,448| 1,529] 2,977 H 2 HHET 790 736 763 1,499
=6 TH 417 506 525/ 1,031 Tt BT 1,241) 1,390, 1,380 2,770
=7 TH 635 725 795 1,520 |&HET 689 705 743] 1,448
EHT 630 712 731 1,443  |$EiEdcET 385 433 413 846
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EE2TH 188 233 235 468| |=3trEET 1,895 2,468 2,696| 5,164
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o AT 682 836 863 1,699 BHE1TH 790 822 828| 1,650
rh K F AT 756 751 773 1,524| |mE2TH 917 964 992| 1,956
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